1‘ ,A sum of T1800 is lent for years at 129
2 Calculate the simple interes i

ton¥ Per annum. Find the interest.
; n
to be paid at the end of 3 5600 for

e, 3 years at the rate of 12% per annum. Also, find lhg amo_um
3, Sunil borrowed X 3800 from the bank at the rate of 141% per annum for % ‘
2 e

ad

and amount paid by him at the end of 2 L years
5 :

4, Find the principal when the amount is 3600 and interest is ¥ 200. e -

5. Harish borrowed X 15000 from Subhash at 16% per annum for 3% years.
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